
������������	
��
	�	��	 ����
�������

�������� ��!"##$
�

%&���('

)*+,���-���.� ����	�.� ���	����.
�/�0��1
�23

/5460�	 �/60/460�	 �/7�� ��0	 
	��

8�9�� �0/�699�:�;<=>

?
0	� 
��/�699�����==


9��	�0	 
	��;�:�@;<<

A,�4���0��� -��	�� �60/�0���/5460�	 �/�060����60/460�	 �/�0B0	C�� ��60/�0�0D����

E�699�F � �� 
7�� �����-���.� ����	�.� �G/ �����H��00246��	�0� ���I���9�� ��C����

���=>��	 ��0	�0���8�9�� �0/�699��2-�� �4��	 0�����I����0
9��	�0	 
	����6.

��� 14� ���J/5460�	�/LK60�J60/5460�	 �/K�6.	�� ��0�M0	��������800��2�F ����60����

NO3JE�699�060	���������0� ���0���	 KGC46���2�0

=>P;�:
;<<RQ<�S��

/5460�	 �/�B0	C�� ��60/�0�0���8�9�� �0/�699���C��	�0���� ���	��/TUVWX�0���

YUZ[��	/� 4
����6������21� ����	��00F C���22��I��2YUZ[��	G

TUVWXQFI�
I���	�	�\��C��	�	�80]���F �21� ��^_`GGU

��C��	�	�80]���F �21� ��^_`G

QF:�\<� S��GU

<�S��Q; S= �@ S

86.�0��
/�8�	I�����0�	2�0�����C��	�	�080 ]����0�0��0�0����01� ���� 0

60�����0���	� 4�/� ]62YU�8 ��[��	/� 4
����� �4��	2�0��00

YU QTUVWX(aTUVWbaTUcWX aTUcWbQ; S= �@ a�S=>�a; S==; a�S>��Q;; S; �S

��� -��C�� .60/�I����� ���	/�24���[�I� ������YUZ -��	�� �60/F ����2�	; 1������	�Z

/���GdQe � S>�;fgh ����i��C�� .�0NO�

���M0	�������� ]C�����0����0� �60/�Z60�?
0	� 
��/�699���	��� 
/�� �����	�

j*+,86���0/�/�I�0�0k6����	�622�0I�����0�0C�� ]6���	���/����4� ]	�0l�/���Z

� �
0�9���2�	���
m nQoUp qrsFtq \tGFuq \uG

oUp qrsF uq \uGUQ><:@ S==
@>< �S: �Q� S>=

m vQt\m nuQ<; S��\� S>=P<�S��Q� S= �

w�0�� �4� �	��� 
���l�/���� �
0�/�� ���uxytQ� S= �a� S>=u����9� 
/0
�	� ]���	�

tZ���	I��uQ>���	m tF >�G Q� S= �a� S>=P >� Q= � S���

�

A,���	��	�0�������z6 ���{9
	 ����H�������C����
	��/60/n���l�/���� �
0�/�Z

����0z6 ����	H� �� 
NO3nQ��8 ��8 �	�� 0�	 �i�C4����0C��NV3n| Q�H����C��

	��	�0]C�����	 �/�

���[��	�	�	 ��	 ����	��0���	

}Q

m n\�
~_���� Q

m n����

�s ��UF��� \m nU���G

Q� S>=�@>< �S: �

�s Up �UF=>�: S@:\� S>=UP@>< �S: �G
Q�; S:; S

��/�0�}���}U��O����Q�S�:�i��C��.�0C����� z6 ���{9
	 ������6	 ��� ��������Z

	��� ��
0]�0	� �	�
0�0���
	��	I���0�6��	������	��� ��
0]�0	� �	�
0�6���� ���I

���
	��	����� ���	2�0� 
/��i
086/�����

�*+,B���	��0��0�����76� �22�0��0/ ]C�����0���F �
/�� �	 �2���	�0GB����46		��60/ 60����F �
/�� �	 �2���	�0G���	�0]��� ���	 �����7C�����0���F �
/�� �	 �2���	�0G B��� �46		��60/60����F �
/�� �	 �2���	�0G���60/��	���0
��0� �� �	 ������76� �2Z

2�0��0/ ]6����0H�I�0� 
C�0�/ ]C��� ��0��0I����0�� ��4���0��0-�� ��I ��0�

A,�������� Q: S< �\; S<=P ����� ��a; S�=P ����� ��

�,B�0w���.46����E46	����w
�� ���09���60/��	�U�E�24���
{�	�	Z 6	96	��	

�U Q� S:<H����06�:<¡���	 
	� ��0-�� ��0]�0��0��	�0C����0�6������

w
�� ���� ��4��	����w
�� ��9���	0�� �	����/6	�

¢,����� ����	��0�0� �/0�£��0	�0B�0 �6��F�Z���	 Q� S��¤� S�<GH�I�0� 
����� �

F�Z���	 Q� S��¤� S�<G �

¥,¦§¨©+ª«ª§¬­� 2z
�2��9 �
	��	F 2�	��0�/��B� .���60/H������i�� ������	0
��

0���	��I	G��0� �����	�?� 462260/ ]6����0H����6.��0�/�� �0/.46/�/�8IC��� �60/ ��� -��	�� �60/���l�� ��6�0i
0��� z
�2��i��	�� �60/��0C���	�

®¯°¥±³²´µ¶�§ ©A¥ ²·ª§¬ ­��� -�� ��0]��� 1����� ]��/	�2[6 ��{Z80��
2I�Z� �
	

��0�60��C460���	�
	�6 �	6��
�������0	 ]604�� ��	2�	 ]60��2�0��2
��4�	 ]C��	

]6 ]60��2�060�.46�
��4�	 ]C��	�46I����0�C������I ]60��2�0� �0�/�0�6��

]6�0��{� ����0HC�����E�60�.46������
	�6 �	6���	H �4���	� ���.��	 ���	�0H����

���[6 ��{Z80��
2I�¸�0C�����6.��� -�� ��	 ]60/i
0w
�� ���00��2�0]��/	����

l�� ��6�0���/�00���	�0��0�2�
0�	�0	�0��0��



�

�*+,

0.00.51.01.52.02.53.0

0
1

2
3

4
5

6
7

8

Masse

S
pannw

eite

���
	��/60/� Qm n��	3

m nQ���
���Qop qrsFuq \� uGFtq \� tG

op qrsF uq \� uGU

Q; S>�a; S�@ a� S�< a� a; S= �a�S�=

� S: �a� S�@ a� S��a� a� S<< a� S=;

Q> S<<
�S�Q�S= �

�
I��� uQ; S;;60�� tQ�S�>�

M0�� Qm v��	3
m vQ� t\�� uQ�S�>\�S= �P; S;;Q\; S:<

����� ���	�0��� 
���l�/���� �
0�/�� ���tQ\; S:< a� S= �u�

A,� 0������	�08II� ��60/��	���l�/���� �
0�/�� ���60���0�I�����9����0��?6�i�

tQ� S�: �P;�� a� S���0/� ]����0�	�86./�60�������8II� ��60/C����0C�����

�Z���	� �
/sOZ	��0�.
�2����0�

�,

0.40.60.81.01.21.41.61.82.0

−
0.8

−
0.6

−
0.4

−
0.2

0.0
0.2

0.4
0.6

0.8

Masse

10er Logarithm
us der S

pannw
eite

�

����q Q�
/sOFtqG��I�0������	�3

�s Q\� S==f �U Q\� S�>f �� Q\� S��f ��Q� S�@f ��Q� S:>f �p Q� S>�

w�	� �Q� S;�60�� uQ; S;;�

2�	.
�/	3

TQm n�Q�� �
���Qop qrsFuq \� uGF �q \� �G

op qrsFuq \� uGU

Q� S:@ a� S�� a� S� �a� a� S��a� S:�

�S�

Q�S��
�S�Q� S>@

M0�� Q�v���	3
	 Q�v�Q� �\�� uQ� S;�\� S>@P; S;;Q\� S>@

� 0��� ]C��	�08II� ��60/� ���	2�0���060]��2��� �/6	9����0��l�/���� �
0�Z

/������

¢,

01020304050607080

0
10

20
30

40
50

60
70

Masse

10er Logarithm
us der S

pannw
eite

70

86���� ��	 ]	�08II� ��60/����	2�0�I.46�uQ>�3 �Q=�60�� 
2�	��	���


9�00C��	�tQ;� �Q;��Ow�	��


 ���2�0I�����0�	3 �Q\� S>@ a� S>@�u�� 0�����E�� ���0/ ���� �60/��	 ]	

2�0��0���	uQ>���060�I� �
22	 ��=�60�� 
2�	tQ;� �Q;��O�


